6s

[N

yA

ﬂ

¥R HNZ / Components

No. # #5 / Part name $E / Pos #E / Material & - REAIE / Color-Finish
1 FN— 1 FILEHR A1100P t=15 ARG N—FE ) BEERERNE
Cover Aluminium A1100P t=1.5 Metallic silver painted / Inside Conductivefinished
2 = 1 TILEHR A1100P t=15 ARGV N—FE / BEBELE
Base Aluminium A1100P t=1.5 Metallic silver painted / Inside Conductivefinished
3 HTE R (M3 x 4 H-5/NE8) 4 % =ffioaA—k
Screw(M3 — 4 Flat-head) Steel Trivalent chromate
4 Raspberry PiERf FIE R (M2.5 x 3) 4 =R Y00l) =TIV AV
Raspberry Pi Screw(M2.5 - 3) Brass Nickel plated
5 BRI LR 4 G L T59%
Rubber Feet Rubber Black
6 DVOF Y AR—H— 4 £ 3 R Ay =l
Self-clinching stand off Steel Trivalent zinc plated
7 Raspberry PiER{t R AR—H—(M2.5F L=25) 4 Ebpd ZuT LAy
Raspberry Pi Clinching stand off Brass Nickel plated

v ——

S

N

$
S

4

€

U

G

(_\\))

i

I

———>D
——D
—D

>

¢

q

i

*J LR FEBDSAICBEYMITTEET,

*Adhesive rubber feet in cluded

\

<

>
j
——3

Q

# & ER : Raspberry Pi 2B / 3B / 3B+
Suitable PCB : Raspberry Pi 2B / 3B / 3B+

&

N
S
Sa
SR
Su
So

S o

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title

Raspberry Pi E7 L2 —X
Raspberry Pi ALUMINIUM CASE

o]

RE/Scale

7 R/ Approved 18X /Checked #1[X]/Created RIE /Product number
RPI-2 I
iR 1 H AN -
{YER B /Date 2018/12/18




AN
AN

95

65

26

E#~i% / Max dim. 475

T

60

R4.5

R3

45

— =
\S Z)
65

E—B
l
|
H
|
|
N I S
| T
H
|
|
|
i
= B
7 S\
[ !
= =
A-A(1:15)
f, ~S
O _ L
= =

E~ti% / Max dim. 61

— o NN
— O NN\

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

Raspberry Pi E7 L2 —X
Raspberry Pi ALUMINIUM CASE

ol s £/§i
| @%§@
\ 4| o

o]

RE/Scale

752/ Approved

iR

#%[X/Checked

1% H

#1[X]/Created

A1l

RIE /Product number

RPI-2

1:15

{ERL B /Date 2018/12/18

2 / 4




$737/N\— / Cover

/;I:I q
—1 —
Lo
© o
©
\ Z4
4-2x%X 10 R1
18 26
65 15 15
13 26 4-2x17R1 14 12-R1 14
o é// :'é//,> . 0
W/ 4 W/ ©
o YL / ///// < o Lr':
S SRS ™ o
| r\ r\ - N
26 18 2_¢8 \J \/ < @2 @B
18.2 65 19.8 6.5 14 ©
R 3 b
I> I> I> I>
<,///'> <,///'> = © %) B
<//> <//> o & &
D / ) / o L - N
oY oY '\
N % % - - -
W/ 4 \/ 4 ~
CI%/ﬁ <,%’> 2 @ ™
& ”~ & ”~ L ~
<///// g\o <l/// -‘:‘° @ -
14-2% 17 R 26 13 195 | 9 17 |9 10.5 9 47 9 4-M3F M7 (/N GE)
4-M3 Counter Sunk
4-2x10 R1 R4.5
( SN)
R3 o)
m#/Title
TAKACHI] #taitshF BT L Raspberry Pi SA7 LS5 —2 O]
————1n [ — TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Raspberry Pi ALUMINIUM CASE
Eﬂ D:j/ 7K ER/ Approved & /Checked HI[X]/Created FIF /Product number RIE/Scale
RPI-2 1.2
iR 1 H w1l 3 4
{YER B /Date 2018/12/18




1.5

> > 16.5 16 16
< %—/ / Base 0
e N
= s
< © ©
o~ e e
< © ©
N © ©
~
43 2.7 2 3.5
56.5 61 4-M2.5 D) F G AR—H—
4-M2.5 Self-clinching stand off 16 29 16
7 47 7
PP
528 o
< ﬁ‘? ol
N 9 [=2] Te]
Lo / py N N
[{e] \
\ “ R L D \\\ A
] @D @) 1 ©g / N\
- <, I; \\\O
45 o \ o Oo / R\
& / 8 N4 A\
N
i <,/’> \o 8
o \ o Oo / N\ L0 3
Ve o
/ 4-M3 \;
Lo
g’ 10-2x 17 R1
o~ J
O © © m ® ©—
J \ o’.
22 17 22 6 49 6
22 17 22
L 1 '\
0
<
~
mn/Title
_ TAKACHI| #taitahFEMIE Raspberry Pi ERT7 LS —2R O]
- TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Raspberry Pi ALUMINIUM CASE
R3 ~ / 752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
1:1.2
22 17 22 RPI-2
iR 1 H AN 4/ 4
{Em B /Date 2018/12/18




